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. Rumgemwad . .
I Wamwmﬁrﬁaﬁmtmmﬁ?l
I Fror 39 saferedt #) awrfar @ S Bt s 2
1. &7 39 =aferal &) awifar & st dem s & | _aEl
IV. 3939 gfrat &) awifar & o ¥ ,
L& 12 % 3ifa fabw o v et ¥t sivey wefyorry 3 fafarer vt 1 afafafere
o =afeh et it aier sl # 0

In the given diagram [
L. Rectangle represents persons mho know English

II.  Trangle represents persons who know Marathi.

ITI.  Square represents persons who know Telugu.

IV, Circle represents persons who know Hindi. ficienc
The regions labelled from 1 to 12 represent various combinations of language Profic
individuals.

How many individuals can speak Eg;}ish exclusively ?

- > English (T3
Marathi (R0t 4
3
6 /4
9 -
8 11 Hindi (f&h
10
—->Telugu(‘<\1?\l;§)
(A) 19 (B) 5 8 (C) 17 (D) 12

&
afs st A A, F, K, P, &, e @ amem 2
If the sequence of letters is A, F, K,%i, what comes next ?
(A) T B) U © Vv D) W
3. v Faen e e st el bakr i e e & o o o e g 2T e vy 3
Select the option in which the nur@ers share the same relationship as that shareq by the given pair of

numbers.

185 : 199
(A) 126:134 (B) 178: 187 (€) 139:153 D) 89: 106

4. U Pifigs e #, ‘LEARNING” &1 *160° & &9 # foran st & | 3w #ve & PREPARATION® #y frar
SATQT 2
In a certain code, ‘LEARNING” is written as *160’. How will ‘PREPARATION® be wri
(A) 248 (B) 124 (C) 266 (D) 133



S. P et sff s 3 71 5 ST TR A e h st e &, ST s

Arrange the following words as per their order in an English dictionary and choose the on€

first : ol |
Hardboard; Handspring: Handover: H““d“'@( .
(A) Handover (B) IlundsPringouz (C) Handstand (D) Hardboard
6. sEarg AT oZ
Complete the series. '
2,6,12,20,30.42, l
(A) 65 (B) 56 ® © @ ! . prefaf@d
[ E R R Hx [Fr oy, 1 af e, A

7. 3IRH-+ lwm‘%H.lﬁw%:leﬂmj%H‘
Fafermwr iR pRIAR?
If H + I means H is the sister of I; H

which of the following means that J is the daughter of P?
(A) P-QxJ-M  (B) p+Q—Jx;\é (C) P-QxJ+M (D) PxQ-J+M

{fc ‘PARANORMAL’ %mmmm@w@“ﬁ
S 5]

fl,
— 1 means H is the brother of T and H x I means H is the motheT ©

feg e fasredt # @ 9% wst g s R e

T ST ST EHaT |

Choose the word from the given altemati% that cannot be formed using each letter of the given word
‘PARANORMAL’ only once. <

(A) NORM (B) PALM E (C) ROAR (D) RARE

FEe § qE ST I AN | @

Find the missing number in the series.

20, 35, 60, 105,190, .

(A) 225 (B) 280 (©) 560 (D) 355
fFrafafiaa # & F1-a1 3@ 7o, W5 3R 93 & i & Goy 9 go0 o= e a2 9
Which of the following diagrams best illust&tes the relationship between Earth, Sea and Sun ?

(A) (B) ~ C OO
CE @ S ®

ST i & 48 TR iy *

(A) e (B) & < ©) ¥
Lion is to in Den as Spider is to L@ (D) SﬁHRTG}g)
(A) Web (B) Hill = ©) Tree

ﬁmzorﬁ.qﬁﬁmm@mg,mwtﬁn%m (D) Shed
mﬂﬁﬂgﬁ%aﬂuovﬁ.amﬁuﬁmmm .40‘*‘-‘“#?%,&{?@ 2 37k 30
(A) 507 ®) 70 (C?%j?wg%? et tﬁi’?ﬁﬁ%l

(D) 654

ekt i SN

-
- - - -
- -
-
-
-
-~
-




13,k st s v e o e st & 8 7 s T T

- uE F
I ST WEaT &t | or figures that maintains the Study
Study the provided figures carefully and choose an option from the answer next y
pattern observed in the problem figures.
(1) [ PO (B [ 0| ,
rclcifircljci|ict ?
I Il I 1V v of
@A (V) ®) (4) "5&_;) )4 ( (D) H(
C I I C ] 1 C .
14. & TR 99+ 12 %ﬁaw@wﬁaﬁtm@ﬁvﬁqﬁﬁnm “W‘ﬁﬁm
TTsfHe ST 31 fhe Rem it s swr @ 2
A (B) ufdm (C) afeor (D) 3T N
A cyclist rides 12 kilometres west and then turns right and rides 7 kilometres. In which direction is the —
cyclist now travelling ? F
(A) East (B) West g) South (D) North r
15. U= S5a 4 F87 [X & SHl % IR ARH A, B, C, D Bdp
I A 2 | ammC | -
gftoms ﬂ?mg C  ¥®ED 17, 3
AT TRt § S S 28 23<] 17 27 :
. P
3\'%‘”&5‘5 et 3 S 14 125 8 13
SAfep afien ol & Sl o & |
srdaTies glie & Sl afer L - ) s .
1T T 7 ST o1
2T e § il s 64 55 46 76
ST T & & For e 8 S SfawTa Ted STa 2
(A) THHEA (B) ¥HHEB ((C) &FEC (D) §|W D
A school has four sections A, B, C, D of Class IX sggents
hResult Section A Sec'gon B | Secnon C Section D
B - 4_‘ t __:‘ -
Students falled in both exams 2_8 , q,_,ﬁ'._i_,_w 1 _‘l L 1
Students falled in half-yearly 14 @h 8 13
but passed in annual exams ) | 19.
Students passed in half-yearly 6 17 l 9 15
but failed in annual exams _ l | ‘
I E— | S
Student passed in both exams 64 35 1 46 76
T —\
Which section exhibits the highest pass pcrcemage in either of the two €Xaminations 9
(A) Section A (B) Section B (C) Section C (D) Section D o



16. mwmﬁﬁme’ﬁtmm%ﬁ?ﬁﬁaﬁﬁ

19.

17.

 18.

2zl th¢
7% = Wgﬁma@ﬁs gear ¥

. rev
Study the graph and find what is the maximum percept@ge increase of tea from the P

next year. -
............... T o
2023 S5 ol
2027 R .
............................ ®
2021 P
2020
20 25
_ 2020 2021 2022 20
'm'“\ I?.u] 14 |5 ]6 I(%‘)
(B coffee (PN | 14 13 16 ﬁ!”
Ml 2 F7) 13 15 17 20
(A) 10% (B) 30.25% (Cﬂ17.65% (D) 20%
1 178 e W7 1 I W FrfaRad eI aﬁwnyﬁaﬁm%nf‘Jaﬁaﬁm%,

‘e Fr a2 o+ 4 e |
Simplify the following expression using the given code language, where ‘+’ represents “x’, X’ represents
‘—* <—’represents ‘+’ and ‘+’ represents s

9+4-6x6+8
(A) 16 (B) 8 © 12 (D) 24
syrre fo e it foq e et STt T & |

Choose the next figure that continues the pattern.

O&

O | KO\ | LB RS/ &
)| 2 :
] |
(A) % (B) % (U® (D) %
z:j:;; :,: o B) 52° ©) 35



21.

22.

23.

25.

20.

FFE-P1E (PTA-8a) fg ITHR &7
VST ([T . ol : ) 2,

If you have a regular hat shape is the
cross-section ?

?

pentagonal prisn:fotnd you slice it parallel to its bases, W

(A) Hexagon (B) Rectangle o8 (C) Square (D) Pentagor
ST | ST T 37877 & 9 ]
What comes next in the sequence ? ®)
A.C.E.G, |
(A) 1 (B) H © J @) &

gﬁg%w%mﬁmW@m@w 3R Zadt T U e BT ¥ | TEE THE 3,8 | -
‘ T & foru o el a1 werer =nfee 2

gt forelt e o ww e R A gud T gy T dE R |

(A) 83RK B) 33K () (C) 83ME (D) 3 HARE

Four cards are placed on a table. Each car@Mas a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which card®hust be turned over to satisfy our requirement ?

“If a card has a vowel on one side, then it ha§,an even number on the other side.”
(A) 8andK (B) 3andK (C) 8andE (D) 3and E

T Ageh! st IR 30 Fd g fafte e @) ae st 3t frem it sovelielt G A &t @ 17 fafew v o=
UTadt T 3T ASH A FAT T 2

(A) & (B) #f (C) uwdt (D) &=

Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the

2%

relation of Vipin’s wife Parvathy to that girl ?

(A) Daughter (B) Mother P> (C) Aunt (D) Sister
A1g 0 HITC : g

%m:m::m: ? o

(A) MfheH (B) W o (C) e (D) TR
Complete the analogy : Q

Camera : Photographer :: Microscope : ? D .

(A) Architect (B) Chef @) (C) Pilot (D) Biologist
5 T FAE? o

Tﬁ%ﬁm% (B) 21 gar & §iw Ad &

(C) AL IAE (D) A= el &

How are dolphins and whales similar ?
(A) Both have scales
(C) Both lay eggs

(B) Both breathe air
(D) Both are fish



26. R o & gt grimen 1 wren fifre

Count the number of triangles in the given figure.

A 12 (B) 16

&

-

)

m.

ol

18

27. o st 4 @, a5 gie s & S sEen S U S a |

od
Out of the figures given, choose the one that will comp@ the series.

Ta]| [ =] o

(D) 10

(A) (B) [ |

28, = faww g s :
Find the Qdd one from the following :

S
Q
~

M

A

(A) (B)

29, 1 angta i foha STEA € 2

~

ST1A&&SO&

How many rectangles are there in the given figure ?

(A) 13 (B) 14
30, s & ST HEA I Ao |

Find the next number in the series.

62,55,48,41,

3 [l

D)

D)

(D) 17

-
-
-
-
-
-
-



31.

T ifsre o, weeft sl (x) # fow et & At s S o EA

Find out which of the figures can be formed from the pieces given in the first figure (X)-

QU

o5
Q
(¥
o
(A) & (B) »-\/ o (©) (D) |
32. A I IR R IS wEpd s G @
C hoosi’ the letter pair which is different frd@others in the group.
(A) GB (B) TO (C) OK (D) MH
33, SET:3.5.11.29.8 ~
mﬁ ma‘?mws‘wﬁ ?
Series : 3,5, 11, 29,83,
What is the next number in the series ?
(A) 283 (B) 253 o (©) 233 (D) 245
34, T S A RIS GE i TR a1l T ai 7 96 of | wwifs, 4 o T H1e 3R g
ST F1 T 4 AT H1 AR 217 9T | AT 4T ) T S B w9 off 2
A few students went on a trip and the to ount planned to be spent was T 96. However, 4 students did
not turn up and as a result the remaining stdents had to contribute ¥ 4 extra. The number of students whe
attended the trip was :
(A) 8 B) 10 ©) 12 D) 6
35. =W ve-awE g g, o 8 i o F-feft w7 & w S &, I9TF o oy s | A
37 mﬁaﬁq |
Four letter—clusters have been given out of which three are alike in some manner, while one is different
Choose the odd one.
(A) HILN (B) PRTV (©) OQRT (D) BDFH
36. Towm 3@ FifeC |
Find the odd one. o
elejek
o
- 0) (D)
O »di
o <
37. wwufEwd 6 @@ A, B,C, D, E, F | B.'E}'?a%’é”%q C, B?ﬁ;fﬁ% A SR C fyafea Sirer | E, €
AR D, A fAAR | F, A %1 8 | TREK P'*Bad' “h‘%a'“m( N
A family consists of 6 members A, B, C, D, E, is the son of C, but C is not the mother of
are a married couple. E is the brother of C. D is the daughter of A. F is the brother of A. Horwomgr.)Afandlc
y female
members are there in the family ? .
Aa) 1 ® 2 ©s3 (D) 4
DZUSy T Page8of24 T TTTTTeee-—o .




38.

39,

40.

41.

42.

43.

44.

45.

a2 6 T hir Fr 790 #, 7 10 oyt FEA TR 2

If the cost of 6 mangoes is € 90, what is the cost of 10 mangoes ?

(A) T120 (B) T130 (©) %150 (D) %160 1k
@Wﬁﬂﬂwt1,764ﬁ€raﬁm%ﬁﬁﬁﬁmm%ﬁwaﬁmwﬁas%ammw

Sy et 78 Tty e oft ound interes!

A sum of money is paid back in two annual instalments of ¥ 1,764 each, allowing 5% comp

compounded annually. The sum borrowed was :
(A) ¥3,280 (B) ¥3,220

X . Al
C 3R B U %1 $ lsﬁﬁaﬁtmﬁﬁf{%m%'@“ﬁ‘ﬁwwmmmﬁmc

T | B3 AV FE i e At A qu ey o2
A) sf= (B) 5%%:[ u{) © 8%&? (D) 10f&=

(€©) ¥3,200 (D) ¥3,240

o
C and B can do a work in 18 days and 24 day§1 respectively. They worked together for 8 days 2

C left. In how many days did B finish the remTintng work ?1
(A) 5 days (B) 5% days (d) ©) 85 days (D) 10days

A 3R B TF U FE FY 75 Rt i a0 & | S0 T WY U R A T 3o e
3R B 3 AW @ 23 fat # o fora | Aﬁmﬁiﬁaﬁ%%ﬂﬁﬁﬁﬁmmﬁm 9

(A) 26f&= (B) 19fe ) 18f= (D) 25

A and B each can do a work in 75 days. They began the work together but A left after some time and B

completed the remaining work in 23 days. After how many days of the start of the work did A leave ?

(A) 26 days (B) 19 days o8 (C) 18 days (D) 25 days ,
e T 1 i i 25% G | wmﬁﬁy%;aﬁzo%aaﬁmw 3 R 10% gt o 7 | A < A

gftomt afg @@ & 2

The increase in the price of a certain item was_29%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increase;jn the price ?

(A) 5% (B) 10% “d__(C) 12.5% (D) 15%

AT T 180 Sf fhciimm 3fit % 280 Sfd forciimt ot areft &t R it =mr &t fohw FuTa & faremen st T

T RrsoT Y T 320 ST R GO ST W 208 s e & 9

In what ratio must the two types of tea at T 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at T 320/kg earns a profit of 20% ?

(A) 3:13 (B) 4:13 (C) 1:14 D) 2:13
A 3t B Y 7ifr i ST o siter T A 2 2 3 ] 3R TEIAT A Y ey q iy A B
15 forre aifereh wma @ # | At A T TG & g B, AR @ amwQ @:wwﬁgfqmmmﬁ

A) 22.5fme ® 33Fe O (© 2as5hm (D) 45fime

The ratio between the speed of travelling of %d Bis 2 : 3 and therefore A takes 1
' es

nd the?

o 318 &l

5 minutes more than

the time taken by B to reach a destination. If Ashad walk
: ed at double the speed, how lon
A g Would he 1,
ave

taken to cover the distance ?

(A) .22.5 mintues (B) 35 mintues <] (©) 21.5 mintue _

WWWWWS%WH%yET %luﬁ'wﬁ S (D) 45 mintues

A sum of money becomes three times at 5% per) R Wﬁ%‘qa{ %IT6 ‘l:n i?f Wﬁ
% will it bec()m ?

times in the same time ? annum simple interest. At what rate

(A) 10.5% (B) 14% | € six



46.

47.

48.

49.

50.

51.

52.

S3.

5 ey 35 w2 | S oy

during the last 3 years of b
e or% 1-10-83, 1-10-84 ang

8 & SR o safen o) e sweh e % e 3 At # 2 shEd 397
1-1-1983 T ¥ 380 ufy ure & it 1-10-83, 1-10-84 3fT 1-10-85 T 40 &7
1-1-86 T T g 2, At 3 wfa wTe et F s e B 2

A mfm’s pgnsion on retirement from service 1s equal to half the average salary
service. His salar_y from 1-1-1983 is ¥ 380 per month, with increment of ¥ 40 du
1-10-85. If he retires on 1-1-86, what pension does he draw per month ?
(A) T205 (B) %215 (C) ¥225 (D) 7230

af foelt @ &1 700, 0.35 R, @ 36 W@ # 120% 7 £ |

If 70% of a number is 0.35, then find 120% of that number. ‘

(A) 64 (B) 7.2 (G360 (D) 0.6

T RT3 25° FT A e 0 F £ Fit 5 S A ged T
Bl h e i Uy fere, o aeq it ke i 41 <

A @der marked the pr_ice of a commodity to include a pfofit of 25% but allow
marked price. What will be his actual profit ?

(A) 16% (B) 25% (CK]S% (D) 9% )

o firdre RIeTdt 1 30 Tt 3 e asrash afted 40 1T | S weted T 6 A S A 100 T

;ﬁf%%ﬁ?ﬁqﬁﬁﬁmqﬁmma‘r -8 Tifit 37 39 38 T 2 | a1 FaeiTSl 1 T
FTR? ’

16% 1 FZ Hr &,

ed a discount of 16% on th

Ty
(A)

TOY

(A

oy | —

The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds his lowest scor 56.

by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs
Then the lowest score of the player is :

(A) 19 (B) 18 (C) 20 (D) 17

T fAmfar o fomie e & 2000 ST H fSOHﬁW&I@WﬂﬁWﬂW%ﬁT% | 36 IFIAH 3
eﬂw,af%mmnmamﬁmw&ﬁﬁm@m%%,aaaﬁagzs%wmmlemfﬁ

N D
50% FIZehi ot SRR X fear ma or | a Fafar &t @R
A manufacturer undertakes to supply 2000 pieces of a‘Barticular component at ¥ 50 per piece. According
to his estimates, even if 5% components fail to p e quality test, then he will make a profit of
25%. However, as it turned out, 50% of the composgnts were rejected. Then what is the loss to the
manufacturer ? |:l
(A) %24,000 (B) ¥26,000 (C)X 28,000 (D) ¥30,000

T FTCETT 6,400 T T T T I 20% 1 T G | A R HT A T TR 2

By selling a car for T 6,400, Mr. Rao lost 20%. Then the cost price of the car is :
(A) %7,200 (B) 7,680 (C) 8,000 (D) 8,400

@W;m.w@qammﬁmmp TS THEM BT 8 | I 8 T 580 § Igar 2. @
TG AT SEET BT T QAT €T § | et 3 R e T

A used two-wheeler-dealer sells a scooter for T 460 angi)makes. some loss. If he had sold it for % 580, his
profit would have been double of his loss. What was thggost price of the scooter ?

(A) %520 (B) %540 (CP3T 480 (D) T500

@mm%ﬁqﬂaso%ﬁmd’eﬁww%mn%ﬁ12d%§aam%|&nnaaﬁmﬁﬁ%:
(A) 6sffEa  (B) 5.5 T/ (o6 fafy/erem (D) 7.5 ot o
A boat goes 80 km upstream in 16 hou

water is :
(A) 6.5 km/hour (B) 5.5 km/hour (€) 6.6 km/hour (D) 7.5 km/hour

rs and 72 km do¥istream in 12 hours. The speed of the boat in still



84,

S8.

89.

60.

R

sy “len nia s 0o | RN AL antell B A AR (g
h) \ RN iy .
I A A R | ) aen W 1R vy vy e, et
(A) 12 R v ()3 R ! WA \ \
' 1yt e
A person can row 22 |‘ ki an hou in stilbwate ANCERO 0N g 11 1y M twie X
. . T «afrenny i () WIEE A long to row up as 10
tow down the stream. The speed of th A b+
\ |
(A 12 kil (M Ve () 7 ) logh O Y
o y km ht
|2 | « s
LTy e e it b <J
Find the HCF of : = “ 4 (S)
p IR TR S
A B © 0

s srera A AR st ol & | afd 15 At g et ol & were wftr % w2 afw sl

R & | 3 e 4 g a3 g Ty R g TR S 3 e 5 e e &1 <

e o iy A e v ) O

an office. 11715 Secedraries went on leave, then every Secretary

There are Senior officers and Secretaries in
rs went @®leave and now every Senior officer has

has two Senior officers. After that 45 Senior oflice
5 Secretaries. Then find out how many Secretaries were there i®Hally.

(A) 30 (B) 40 © 25 <] (D) 35
285, 510, | 440 &1 HEEH GHTYEdE (HCF) 1 i | ]
Find the HCF of 285, 510, 1440. ®
(A) 14 (B) 15 ©) 16 (D) 17

unHR(mmﬁﬁmmm#-wa@amﬁmzﬁ%Mﬁm%m%?
(A) T 10 (B) TR 14 () AT 18 (D) =R 25

Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum

from persecution ? _

(A) Article 10 (B) Article 14 ©) Amcgm (D) Article 25
udfie, 1 U &9 ¥ rd

(A) - famfaa ufrdufrat Ao ofes)  (B) e et (@H-afRe® i)
(©) e trdhor st (-4 TR D) i (F-efi )
The full form of NPAis .

(A) Non-Performing Assets (B) Non-Public Assets

(C) Non-Package A.cuon (D) Non-@f( yrming Actions
Ltk Ac AR SRR INE CEEEIRUSICIE S

(A) S (B) ST (C) g (D) FeER

In which district of Uttar Pradesh is the *Shera Dance® celebrated ?

(A) Amethi (B) Ayodhya (€) Lalitpur (D) Bijnor



61. ST THIY Feror gfdeer wfy 1 g Ry T 0
(A) I ERURT ¥ IaureT w ufyey
(B) 9T ST & wrifarqul IuzinT Y axgran 2T
(C) TIS[ET TRHATY] IEATIR Y 8 FHTAT
(D) mmwaﬁm%mmﬁqugﬁw

What is the main purpose of the Comprehensive Test Ban Treaty ? o
(A) Ban nuclear weapons production @,
(B)  Promote the peaceful use of nuclear energy ¥
(€)  Reduce existing nuclear arsenals o
(D) Ban all nuclear explosions for both civilian and military purposes od
62. S o P b vt 5 R s Far o <
(A) ad (B) T © PRmEes) —[JD) Ao
Arjuna Award is conferred for achievements in the field of : ®
(A) Sports (B) Dance (C) Theatre (D) Literature
63. 3fean fo=a shiem forasht atremare 2 9
(4) TSETER (B) @ E R
(C) TA. reamit (D) A FHeAH ATSIE
‘India Wins Freedom’ is the autobiography of whom ?
(A) Rajendra Prasad (B) Subhash Chandra %e
(C) L.K. Advani (D) Abul Kalam Azad

64. 2016 % famsiahaor & = RBI 1 i afrerer 500 31t 1000 ¥R % Fre wiw 5w {g
What percentage of 500 and 1000 rupees notes was received by RBI after thes@16 demonetization ?

(A) 98.96% (B) 95.65% (C) 93.27% QD) 97.45%
65. 1993 ¥ AT St W fag awiaq 3 ST AT 7T | ]

(A) UTRZEH HI§oT (B) %aféﬁa‘mn ®

(C) fawT swon (D) Tfbeh R Tzdn amuyy

The World Conference on Human Rights in 1993 adopted the

(A) Amsterdam Declaration (B) Helsinki Declaration
(C) Vienna Declaration (D) Helsinki and Amsterdam Declaration

66. T adenfae wviaT stfafrm 3 ArhaT Wwﬁvwmﬁﬁwﬁﬁaa@q}aﬁ( Srafe s #
foru et & srmeror i sgrT 2 _ O
(A) 42t gaied (B) 443t wxired (C) 73aEMHE  4D) 7957 iy
Which Constitutional Amendment Act extended the reservation of sea@3for Scheduled Castes and
Scheduled Tribes in the Lok Sabha and State Assemblies ? o

(A) 42"4 Amendment (B) 44™ Amendment  (C) 73" Amendment g[)) 79th Amendment

67. “dihesr 3ftet I & fope Tog A feu@ 8 2 ®
(&) AT (B) T (©) forstre (D) g
The “Loktak” lake is located in which state of India ?
(A) Meghalaya (B) Manipur (C) Mizoram (D) Tripura



68 W@%ﬁ]ﬂ)ﬁ‘wﬁwaﬂta@'@r’wﬁmm

B) & . v R

(A) §war ® - N ©) s Rt agrn s

The words “Unity and Integrity of the Nation™ in the pregmy. (D) wsngan

principle ? € 3Im to promote which fundamental
. 4 nts

(A) Equality (B) Justice ©) Fratemity undame

(D) SOVereigmy

” @mm%sﬁgﬁz%mﬁuﬁmmhﬁ%

(A) THaRRE (B) TS o (C) - (:m W% |
s a software program that ﬁl%{l} all the data coming through the ln:er.n

\_ (A) Antivirus (B) Cookies o &) Milviare (D) ;;t

70. wﬁ%mmm%mmﬁ%mw*mm%mwm% o
~ (A) | e e @) (B) WTHIN Fezafdn |

© 3 et (D) AT ST (3ia:fm)

What is the term for the strategic use of Soc@)media
(A) Social media marketing

platforms to communicate with an audience ?
(B) Social networking

(C) Online chatting (D) Virtual interaction

7L T Y TS TR 2

(A) ST (B) WA © P (D) HRSE
What is the capital of Bhutan ?
(A) Brasilia (B) Porto-Novo %3 (C) Thimphu (D) Sarajevo
72, RE H G oo T G BAAR 2 2;3
(A) W=dg ol (B) WeTeHT e A
(©) o s e forst o8 (D) T ESICH HY
Which is the longest River bridge in India 7{]
(A) Rabindra Setu [_j (B) Mahatma Gandhi Setu
J (C) Annai Indira Gandhi Bridge @) (D) Bhupen Hazarika Setu
. 73 T 3 AT e TS ST & AT 2
| (A) 3 1853 (B) 3TTE 1998 (C) ST 1991 (D) T&s 1995
When did the Government present the Kisan Credit Card Scheme ?
(A) April 1853 (B) August 1998 (C) July 1991 (D) November 1995

74, W@ aﬂtﬁﬂﬁqﬂ%ﬁ?mﬁ:ﬂ* e Thgea i e e TR s 2
(A) q’r@%qeﬁaﬁw%w% ) -
(B) FTfen ey SR i
() T wEET S A G TG "g
(D) mmmﬁ%mﬁ ‘
How does the partnership between India anJQietnam change their regional security dynamics 9
(A) Through cultural integration LJ yn
(B) By imposing economic sanctions (3)
(C) By increasing defence cooperation and maritime security

(D) Through joint nuclear programmes

D.7ZU-24
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75.

76.

77.

78.

79.

80.

81.

[ 2024 T i1 99T B faraer F Jar i £ 0

(A) Ty (B) wfewrFT @3

() Ifa= Feliare (D) @i et

Who is the Leader of the Opposition in the Lok Sabha as of June 2024 ?

(A) Rah-ul Gandhi o (B) Mallikarjun Kharge

(C) Arvind Kejriwal Y (D) Sonia Gandhi

“TTAF AHT [ & A@FH B & 9 Py .
(A) i gE B) Fredaell () zeraq (D) THF
Who is the author of the book “Tughluq N%a” ?

(A) Amir Khusrau  (B) Ziauddin Bafni  (C) Ibn Battuta (D) Allen Zen
HAT 378 ST T (IRENA) F1 6 § 2

(A) 37 (TRt St 3 Sudii ) sty 3t 2

(B) foreprerefier et 3 1 weermoy st spretarnr forapfre et 2

(C)  IRENA T S i TR sigi T e e et &

(D) g s & Sfiaredft S aftaiisimad & fore Rt gemer som et 2
What does the International Renewable Energy Agency (IRENA) do ?
(A) Promotes the use of renewable energy

(B) Develops nuclear energy programmes for developing countries

(C) IRENA focuses on advancing nuclear power
(D) Provides financial aid for fossil fuelgdbjects worldwide

3 TTdaTe R st 3 a3 R Rrg wreT 9 Rider aer ST 2 2

(A) FUE (B) T :g ©) foas= (D) UNCCT
Which organisation is held responsible foggpordinating global counterterrorism efforts ?
(A) INTERPOL (B) NATO (C) World Bank (D) UNCCT
T ITE, SIE, S HTTEH TA | SRR 2

What is the GST rate for necessary items likeé milk products, bread, etc ? ‘

(A) 5% ® 18% @ ©) 12% D) 28%
STEET O ATET 3 AR ST T ) o T fod T & S 2024-25 9 B9 @ E 0
(A) TR N (B) 3NfEe (C) 3o s (D) s

What is the name given to NASA’s manned landing mission to the Moon which is likely to happen -

2024-25 2 |
(A) Lunar Gateway (B) Orion (C) Apollo Regained (D) Artemis

st grifeRR SR feget (ITERYFRASHT #1 Sew FefafEd i rasrdar wvafifa s -
(A) St e o fere ey fereet ®) SR =
(B) & IHW ﬁw&qg&*a’m%wﬁgﬁwmﬁ
(
(C) I=1d €N e renfreht o
(D) iafee-arenfa fersteft Seare §.1 o
The International Thermonuclear ExperimeT al Reactor (ITER) project aims to d emonstrate the feasibil®
of :
(A) Nuclear fission for energy productiofyy
(B) Fusion energy as a large-scale and car on-free source

(C) Advanced solar panel technology
(D) Space-based power generation



82.

83.

87.

89.

90.

A) T R faaw (B) 1T ey fran

(C) faaFaxfeay (D) $hfam faag

14 September is celebrated as

(A) National Hindi Diwas (B) National Voters Day

(C) World Cancer Day (D) Engineer’s Day
RUGEISIRECIEEIRETREIC DGR

(A) @g®uni (B) e (C) #ar sEat (D) afrfr
The Bharatmals roiana is relate :

(A) Rt‘ﬂd\l\]‘;.i'l o Y Waterways :‘{5‘“ ) Airports (D) Forestry
(A) E=ft B) fawh o) frmma @z ) (D) &
Which of the following festival is known as the fe%gval of lights in India ?

(A) Holi (B) Diwali ‘:](C) Christmas (D) Eid
s et  reaferae & e s g 7T ST 2 2

(A) ™I (B) T H @)(C) g4 (D) #@fA %
Which of the following type of tax is submitted in Indian GST ?

(A) Income Tax (B) Service Tax (C) Wealth Tax (D) Property Tax
ﬁﬂ%ﬁ@ﬁﬁﬁﬁw}maﬂaﬁmﬁﬁmmﬁaﬂmﬁm T

(A) HETcHT T 7 (B) SETEATA TEE

(C). TaHE areadt (D) Tl T H1EA T

Who among the following first propounded the idﬁ@of Basic Education ?

(A) Mahatma Gandhi ()(B) Jawaharlal Nehru

(C) Dayanand Saraswati
T q, 2020 - 21 F 9T ST HETAl 1 TG SOEF 91 ?

‘:‘?(D) Raja Ram Mohan Roy

(A) TEA T (B) ¥@w <|(© aferg (D) FAZE

In India, which state was the leading producer of Efes in2020-217

(A) Madhya Pradesh (B) Assam @(C) Tamil Nadu (D) Kamataka

eotas ‘W%eﬁnacﬁamré’ (TR ¥i7T o AT ORI 1 MTHaAT 19 2 2

(A) HEEH FE (B) sreufa T (C) Sfasa (D) T ==

Who is the recipient of the first-ever ‘Lifetimc Disturbing the Peace Award’ ?

(A) Salman Rushdie ( B) Arundhati Roy (C) Joe Biden (D) Rory Stewart

gag &4 femana are AT T ?:

(A) R (B) G 23(C) I (D) FEUTES FE

The Indian state with the lowest sex ratio is : wJ

(A) Haryana (B) Punjab ~(C) Uttar Pradesh

T (D) F A R t;g (D) Arunachal Pradesh
= §(ATFN) / W (F3) _Qm .

(A) D=S5( ) <](B) D = S(¥H) / N (dwm)

() D =N (@@ /S )
Density of population (D) is :
(A) D =S(size)/ W (weight) - (B) D =S(space) / N(number
(C) D =N (number)/ S(space) (D) D = S(size)/ S (space) !

) D= SEmEm)/ s @)
®



91.

92.

93.

94.

9s.

96.

a@fﬂﬁﬁﬁzﬁﬁaﬁrwmw%mgmaﬁaﬁ%ﬁm%?
(A) G ROt Y sigTd gu aTedfaeh aHa T ST waH

(B) W &M HfHa i srravashar sl g T wHiH FF

(C) ARt s o st T ) s 3 sy st 1 GoAAEAd T

(D) 9&EEH 3R geamaa ufararad # gur sk

How does the integration of biometric technology enhance India’s internal security framework ?
(A) By providing real-time location tracking cnMncing overall surveillance

(B) By eliminating the need for human sccurit& ’dcrszonncl altogether

(C) By reducing paperwork and streamlining (ﬂﬁmlstr‘mvc processes for citizens

(D) By improving identification and vcrlﬁcauon frocesses

1928 H SNl HeaTwie 1 Iqe fre frmer 2 ||

(A) HeTey i () (B) @@ FeevVTE ged

(C) PSR (D) SETEEs TEE

Who led the Bardoli Satyagraha in 1928 ?

(A) Mahatma Gandhi (B) Sardar Vallabhbhai Patel
(C) Subhash Chandra Bose (D) Jawaharlal Nehru

2021 ¥, Wﬁwmmmammmmmmmmwa

T e o |
(A) T (B) el g (C) utaat (D) e

In 2021, Instagram was ranked globally at ! position on the Internet in Most Used Soc

Media Platforms Worldwide.

(A) Second (B) First . g (C) Fifth (D) Fourth
=19 7 feaa 9T Samshnr ohe f3haT 2 ]

When did China invade Tibet ?

(A) 1952 (B) 1950 (C) 1953 (D) 1949
foraferfiga & & o Sfia st STeT QT it SNl Hehdeh W1 ST & 2

(A) 3 (B) & oy (C) Haw (D) I

Which of the following organisms is considered & bioindicator of water pollution ?
(A) Earthworm (B) Zebra l:; (C) Frog (D) Lion

afg 319 7188 ‘INFORMATION” & 1, 5, ()aﬂtsi&mmmmaﬁm@wmwwm

Y 39 168 T ST ITET T €T 2 <]

If you can form exactly one meaningful Engligh fvord using the 1%,
‘INFORMATION’, what will be the fourth lettef'g} that word ?

A) M B) T (©) R (D) 1

sth.

th
6" and gth letters of the wo



97. mmw&&Qmma A o fan " LIRLIER N

T8 : T8 9y
(C) mm(wm) (1Y) AU iy

From the given options, find the pair which * alpnt 10 the piven pas
Projectile : Trajectory ()
(1) Shooting atar Althoaphiere

(A) Aecroplane : Route
(©) Ship . Knots oute ¢ (1) Satellite - Orhig

o
0. AT ST 3 Rretier wwerd et v o) wfdy 1 A el e e A R Rt v o o e o b el

Tt fem aeft ey @ 500, i &2 '

(A) 4.8 fht iy v | () A6 A uta e

(C) 5.2 fodt wfy v iy W 4.5 fAhy e e

If the Speed of a boat n‘lo\‘ing agains| the (‘lll'ﬂ‘"‘ I8 |8 kl”/l“'. what 15 the gp(-(nd of the stream if the bost '3
speed downstream is 50% greater than its s])ccd upstreamm !

(A) 4.8 kmph (3) 4.0 kmph

(C) 5.2 kmph (D) 45 kmph

99, 8 wieT I 3K 161ﬁa:¥7€1§aﬁﬁgﬁaﬁra}mm%7

What is the area of a triangle with base 8 metersopd height 16 meters

(A) 32m’ B) 128 m? E”’ © 15m’ (D) 64 m’
100. Y,X%qﬁﬁ%.a‘rp%{éﬁ%lz,v%m-w@mﬁftlZﬁmﬁ‘“ﬁ"t'?
(A) IR ®) cRoafim o8 (©) Fe-afem (D) afeqorqd
Y is in the East of X, which is in the East of P. Z:ll in the North-West of Y. In which direction of 713 p?
(A) North-East (B) South-West [] © North-West (D) South-East
101, TEET SEI1 1A HIT | Q)
Find the dissimilar number.
9271, 8482, 7633, 6724, 5745.
(A) 5745 (B) 9271 (C) 7633 (D) 6724

102. ﬁn%ﬁaaﬁﬁm-mdwﬂw%ﬁwt?

Which of the following numbers is different from the rest ?

13,17, 23, 27, 29 fj)
A) 13 B) 17 -
(A) ) ey (C) 23 D) 27

103. @MMW%WZOGMXOMM&}&qﬁ(}W
. o 50T R | T Y 3 O A A A F
iﬁgzmgmmﬁ”ﬁﬁmmg'. ‘:ﬂmﬁ?wﬁ4()()mﬁ%;f%mmm“ﬁm3?
. | (B) 64,15 ffiter
(C) 58.15 ferHl/ACT |
@y ) OR1s Ffiager

A man travels the first 200 km of his journey K(
200 km of his journey at 50 km/hr. What is his ayey, el
pe

(A) 61.53 km/hr
(C) 58.15 km/hr

" . Due to bad weather he travels the next
h peed for the first 400 km of hix journey 9
b 04 1S K/l

() 6K 15 kin/h

ZU' ". | ®R - - - - -
3 Iu - -
D 24 l@' "l - - -



104. T TR A 37 397 2 g st T o, ‘ﬁﬁaﬁimaﬁ%éﬁqwmﬁﬁamaﬁm"\

106.

107.

108.

foperhY afix oft 2 afa &1 109
(A) FH (B) & (C) Jasht 37 @ (
Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is mYy father’s daug}nq,
Whose photograph was it ?

(

(D) Husband’s

(A) Son’s (B) Daughter’s <:.6((') Her own

- TR ofam 1 afie 20 faah e, ot st 3 s o e e 1 7w fe et 3 1 3fe 20 Pt eh
aﬁweﬁus%ﬁ?wweﬂtmﬁ%ﬁlmmﬁmﬁaﬂﬁ%? . 110.
(A) 3:6f (B) ufym ;‘g(c) af\mq;é (D) T3

Rani went 20 km towards west, then turned left qd went 20 km! She again turned left and went 2y kn

She took a 45 degree turn towards her left and wenl straight. In which direction is she walking now ?

(A)  East (B) West [] (C) South-East (D) North-East

P TR S it - e o 43938+ 3 o s i e T
S 2 5T 78197 46 3 1| 11.

2
|
¥RFE |M [ R [T |B|W|[K|D [N J
IId

3l e & vest it Sifem At afer e 37w A <5 % g § Fifed e ST =R

Al e % veet 3 ifm BT st W i gt A w22 3w i e e ST R |

e e AR S 7t 3 oo forwm @ ok g ww &, ) veer i # QS iR 3 F W Fm
3 Fifea e & | o3

(A) ZTWMNZ (B) KTMWNZ o8 (C) ZTMWNZ (D) KTMWNB

Read the following table and find the relevant cod(]for ‘472938’ as per the conditions given :

_UJ | (N T —

Digit 2 5 7 8 9 4 6 3 1|

Letter code M R T B V\@ K D N J

Conditions :
1. If both the first and last digits of the number are odd digits, then both are to be coded as ‘S’
If both the first and last digits of the number are even digits, then both are to be coded as ‘7.

2.
3. If one among the first and last digits is odd and the other one is even, then the first digit has to &
coded as ‘Q’ and the last digit as ‘W’.
(A) ZTWMNZ (B) KTMWNZ o (C) ZTMWNZ (D) KTMWNB
ST 15,36, 63,96, 1 amreht T 1 A L)
i i i 6, 63, 96,22
Find the next number in the series 15, 36, 63, 96, o
(A) 122 (B) 128 o (O) 135 (D) 145

R war #, o -: 35 e i v 36 2 e Rl e & 93 U E | orarit ¥ vt e s g s
eyt 3 & e o after oft 7 Waly AT @ | aﬁﬁﬁmﬁﬁml

In the given question, there are two sets of lett@to the left of the sign :: which are connected in some
way. The same relationship obtains between the third set of letters and one of the four alternatives under it

Find the correct alternative.

18120 : RAT :: 18914719 : ?

(A) RINGS  (B) RINCH ) RIMBS (D) RICH ... Dz



110.

111.

Find the odd pair.
(A) Dog: Puppy

(_) (B) Cow : Calf

> . )
(C) Tortoise : Turtle ol (D) Sheep : Lamb

T IR #, ofe wew P, Q. R, saﬁtT%lPsﬂT&?mWiowﬁmmm P, R #1 g 321

3 Freef v 30 521 7. s At b1, T AR

(A) | (B) smft L) =& (D) @7

@ T. P and Q are a married couple, () being the female

eris S. T is the mother of S. How is () related to T 7
(C) Daughter (D) Daughter-in-law

In a family. there are five members P, Q, R, S
member. P is the only son of R, whose only daught
(A) Mother-in-law (B) Sister-in-law
ﬁﬁ%ﬁéﬁmﬁaﬁq&;w%mﬂﬁmmmaﬂuﬁmﬁﬁwm% | 9T T s Fifaw A
IEF ST T I I AR | ‘
The following pie-chart shows the percentage aistributio
book. Study the pie-chart and the answer the quesa;n based on it.

n of the expenditure incurred in publishing 2

o8
fFdt g F SFEE 7 8 Fra fafy= =99 oy arious Expenditures (in percentage) Incurred

(afasra 9) 4 in Publishing a Book
@ .
128 T ART Promotion\ Printing Cost
R 20% Cost 20% >
10% NP 10% @6@
3
et &(‘é N Io Royalty @9&0 \Q“P
15% 15% b
o
P! T 8 ) Paper Cost
foreea=t 25% o3 Binding 25%
20% ol 20%

u&ﬁwﬁwﬂmwm;wmma@ﬁﬁfﬂ%mw%, 3t 3ifdRa e € 280 8, A T Y
@gﬁﬁwmﬁmw 2

a book is set at 40% above

If the marked price of the cost price, and the marked price is T 280, what is the

cost of the paper used in one copy of the book ?

B) %60 .
( ©) =30 (D) 50



113.

HDYSMWNBQPOCRTBLZVEGUF ¢
i e 8 R 2 et e 0 i 2
(A) B3RQ (B) D3y eXC) U3MF (D) V3E

Answer the question according to the letter series m;cn below.

HDYSMWNBQPOCRTBLZVEGUF

Which two neighbours in the given arrangement auanhest in the alphabetical order ?

(A) BandQ (B) DandY ¢ %C) Uand F (D) VandE

3 T 5 Ok G F, 40 W v R, 30 R v B, 3k 20 7 77 S FH 2 T6E E A
I I THS FA & 2

If in a group of people, 40 like tea, 30 like coffee, and 20 like both tea and coffee. how many people | .
only tea ?

(A) 20 (B) 10 ;‘g(c) 40 (D) 15
o
V. H. 114Q 118 Terisr I !
ﬂﬁwm)wwmﬁmm%Ié%mmﬁm%mwﬁq%ﬁaayﬁ%méﬁq
et oft a1 gt oft o T fiear At 1R )
2@ HUS TR 810 I aefail & ax ([33,
Tehel! 35, =78 F &1 3R W gw RaR
& S, ot e, & & 3w R e
TR Fect Soft Ieht Wt e Wt off
T Sl F g e G e off
G AL AR a8 at gt areft Tt o | ol
114, FarE $i rfemhie &0 E : Q

115.

116.

117.

(A) TS (B) aTcqeAqUl €(C) Femfeeqet (D) uififs
g a7 o e v A o e e

(A) R (B) e St (”](C) NAREEIES (D) &%
I T T WEY Y B wehaT R : [] —

(A) @it & Tt @)(B) 18 .

(C) ST T ST (D) WERTS; T

o9 Higar I FafaE FAHR

(A) were awi (B) QURFFLEE  (C) A0 (D) e
. g Hiar & T R T W R |

(A) wf® (B) & (C) ¥R (D) dR
. ﬁqmﬁwﬁﬁﬁﬁgramwﬁ#ﬂ%ﬁﬂ-m%?

A fageh (B) o (©) fagtt (D) g )
%7 ¥ 7 oS 7 R



3 afera fer ! g R |

g e ST gH AT !
e (,?:[:)I qyfﬁmw (3 del‘l-'h"“‘ (C)  3ufamm
oY AR oy - (D) #m=
(21. 1987% ‘m@%ﬁn'iﬁmmﬁ?ﬂsﬁ»m g = e a2
o e v e :;l"i( ) (D) fora oz e
122. ﬁ'ﬁ%@'ﬁﬁﬁa&‘{lﬂmﬁﬂw%? 05((‘) .
(A) HH B) @4 | O
123. s F fraA We 2 H((‘) .
@ ®) 4 @ (D) 6
(24, T O HT ISR MR : 1
(A) & (B) 3 (C)' 33 ©) ot
125. ‘Wﬁmma@aﬁaﬁmm%rwﬁﬁ%ﬁ‘WWWWM%?
(A) #Hsled (B) T\!UT (C) Hc’eﬁd (D) -
126, “FT 1 IGTAATH TR Q : of)
(A) F @B) fafeq :};(C) ™ (D) 3T
127. Wﬁm% ol
odf(C) FHUE D) T

(A) dqIEN (B) TIIAME

PPN
[ |(B) AT ad o o IaT A T |

(A) ST GRI EeaE I 7K | |
(C) 3T AR g Erd SR <o | &) (p) e g TG W R |

129. ﬁﬁ%ﬁéﬁﬁﬁgﬁ"dﬂwaﬁq;

(A) =mEd (B) T (C) Ae&Td (D) TER
130. ‘m-wyﬁqsﬁaﬁ%g’%%Q@w%:

NIREUELS B) et ot © e (D) U
131, aTfTE Ieq T GATHTES F1 & ? (4')

(a) T (B) SR i (©) (D) fdT
132. <<% & gEd’ @zﬁ)ésm%:: o)

(A) I3 (B) TX IR o) g ameh (D) T
133, Pt i & Fe-a o fw @ |

@) () ®) () Yo ) o (1)
134. ‘gﬁr-ﬁﬁr’m-gmmmﬁﬁmgﬁq:

(A) GHTH—STHT (B) R -IETfe ©) o4 (D) S-S
135, Ereffiaa o & I & & F9 H1 941 HIC:

(A) HTE R FE AT (B) ¥ s FT K

() B AE R (D) ey o ST il



136. ‘3NT — W WISE-JH T wEt AT R (D) @i - i

(A) fnfg -t (B) ®&ar- Aftq (C) & — 9T
137. SR TR FTaef & - o2 T e
(A) TEfdq®m  (B) FARATR () () Sl S ) 3
138. i — FeTifer wroq-om ot wet a7ef R o
(A) 9% - F9 (B) 99& - UhEe oa(c) Tz gFEz (D) FEEC TP
139. ‘omify wﬁ-m-quﬁmwaﬁ&w TFTR? ’
(A) WA T (B) 3 ?(C) T (D) SR T
140. T Tt ) i o7 ITENT A -
(A) TR (B) ¥ (C) T&= (D) drered
141. ‘TE TITER &, Fifeh 98 TR |” 39 10 § -9 7oA & 2
(A) SRS (B) T -UETEH (C) H¥aar=s (D) FROETIS

142, o g g mﬁqﬁﬁﬁﬁxmn%‘:ﬁvmﬁmm%:
(A) mﬁfaa?«mt (B) Tommif swi@R ;5 (C) o et (D) faramaaT R

143, FrrerRac 2 P a3 P e 3 o i e e e e 2

(A) TR (B) fagm <] (C) §H| qaT (D) @fesT
144, AT V1T 1 HE SETT ©Y AT forohed e ; |

(A) Tl (B) dmEAl ® (© =g (D) zagal
145. FumTe fRd FEd & 2 .

(A) @ (B) =SHI % TYE A

(C) auil o Fafead &9E & (D) VT o STTRVT T

146, TR STEAT” TS o Tt 31 1 ?
(A) R‘Nmaﬁn (B) mziﬁatﬁmzﬁmo(C) mﬁﬁaﬁﬁm (D) i afesm &

147, <O T @S A AT ST S 2T 87 aﬁaﬁaﬂ%r«ﬁaﬁﬁs%.

(A) WERAIRER od (B) T 9 T BT
(C) TR it oft 7t Frebrerad O WA T S
148, Frerferiiaa i & o vz & - U
(A) ST (B) Tl ® ) g= (D) #F
149, 3 s § e wEE T R T3 T T ISR & 2
(A) 3THIRY (B) TeH T
(C) 3T N o &9 a1 (D) AT
150. Faffm iR y=m g 2
A) = (B) ¥ (C) ™ (D) 35a
X7 07 e Sooly 7 et



